AB Calculus Ch 6 Anti-Derivatives

Monday 12 February 2018 HOMEWORK

Name

ANSWER KEY

Period 2

3 4 5

Find the Derivatives in part (a) & column 1. From your understanding of the patterns for derivatives, find the anti-
derivatives in part (b) & (c), columns 2 & 3. Show work in your HW notebook. There is not enough room here!

Find Derivative

Find Anti-Derivative

Find Anti-Derivative

dF
dx

la. F(X)=x*=x*+x+7

= f(x)=3x"—2x+1

. f(X)=x*+x-4
F(x):j(x2 +x—4)dx

F(x):%x3+%x2

—4x+c

lc. f(x)=4x*-2x*+5x+1
F(x)= j(4x3 — 2% +5x+1)dx

F(x):x4—§x3+§x2+x+c

dF
dx

2a. F(x)=sin(x)+cos(x)

= f (x)=cosx—sinx

2b.  f(x)=3sin x—2cos x
F(x)=j(3sinx—2003x)dx

F(x)=-3cosx—2sinx+c

2c. f(x)=-4sinx+7cosx
F(x)= j(—4sin X+ 7cos x)dx

F(x)=4cosx+7sinx+c

3a. F(x)=¢e"+8"

3b.  f(X)=9¢e" —In4e4”

3c. f(x)=-2e" +3.5"
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((jjl):( f (x)=e*+In(8)8" F(X):j(9ex—|n4'4x)dx F(X):J.(—Zex+3-5x)dx
F(x)=9%"-4"+c F (x)=—2¢" + 3 o,
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F(x)=—=-=+5In|x|+c
x} X

dF
dx

5a. F(x)=tan(x)+sec(x)

= f (x) =sec’ x+secxtan x

5b.  f(x)=4sec’ x—7secxtan x
F(x)= J'(4sec2 X —7secxtan x)dx

F(x)=4tanx—7secx+c

5c.  f(x)=-3sec” x+8secxtan x
F(x)= J(—3secz X-+8sec x tan x ) dx

F(x)=—3tan X+8secx+cC

dF
dx

6a. F(x)=cot(x)+csc(x)

= f (x) =—csc? x—cscxcot X

5b.  f(X)=-5CsC? X+ 2CSC X cot X
F(x) =I(—SCSCZ x+chcxcotx)dx

F(x):500tx—2050x+c

5c.  f(x)=2csc® x—9cscxcot x
F(x)= _[(chcz X—9csc xcotx)dx

F(x)=—2cotx+9cscx+c

dF
dx

7a. F(X) =/x+3x
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F(x):mm—ﬁjdx
F(x ):7\/_+3€/_+c
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F(x):IL—%+%jdx
F(x )=—18\/;+24§/;+c

7c. f(x)=

dF
dx

—="f(x)= 2t

8a. F(x) =arctan x +arcsin x
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F(x):j(l;iz +J£7jdx

F(x)=-2tan™" x+3sin™" x+c

8h. f(x)=
()1+x
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F(X):I(5+5x2 - . jdx

F(x)=2tan" x—3sin" x+c

8c. f(xX)=
(0 = 5+5x







